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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1

Ans

AR ke &9 F Uee, eSS 3N offwe (gud) F o Rfve & Bw
29T W FUERT TY 2018 & A9ET [ohohe To8 9 & IHd HEUT H ST giEe
#r &2

The Indian cricket team won the 5th edition of Blind Cricket World Cup 2018 by
defeating which country in the final by two wickets at Sharjah in United Arab Emirates
(UAE)?

x o, e

Bangladesh

Question ID : 9864494440
Status : Answered

Chosen Option : 1

Q.2

Ans

HI 3R ALY, U WA A A G, U &- HI 18 el 7 qU & Faelr
&1 greliieh, AL 3R FA A § 3 FH F 25 76 F G A & ag
59 oi5 & § 3R R 99T @ o OF S § 3N 9 @ @ e g
FAN {1 AdroAa, gt F1 & 39 AT F off A ) Al o q7ew & gon
# 3o & w1 T, d AT HT 3R 56 F1T & A A fhdel f&el 1 qHd
efIE?

Mugdha and Mayuri, working together, can complete a job in 18 days. However, Mayur
works alone and leaves after completing two-fifths of the job and then Mugdha takes over
and completes the remaining work by herself. As a result, the duo could complete the job
in 39 days. How many days would Mugdha alone have taken to do the job if Mayun
worked faster than Mugdha?

v 145
X 2 24
X 372
X 430

Question ID : 9864494579
Status : Answered
Chosen Option : 1

Q.3
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Question ID : 9864494718
Status : Answered
Chosen Option : 2
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Ans

T 717 Fua & 9 AN a7 L F Fua A & 7 gET & HUR W Fiad
TEAITAT FRETS dwded §9 8§ relel #al 81

HYe:
Teaf oA WA AT W AT fRar S €, qui qreagead quedr
&l

FIiarE:
1. FaT H =arEae & forw sl et @ At e smer arfee
2. 3@t # HAleEr vEed & deaad i & o seaifs amst @
WA R S arfge

Read the given statement and decide which of the suggested courses of action logically
follow(s) on the basis of the information given in the statement.

Statement:
Though the syllabus is revised from time to time, the textbooks are outdated.

Course of Action:

1. Industrial experts should be invited for lectures in the class.
2. Industrial visits should be arranged to update the current trend in the industry.

v 1 3R 2 2t & aree g g
Both 1 and 2 follow.

leﬂa_cm' 2 T 9Telel grar 2l
Only 2 follows.

K 3
Ir at 1 &7 AT 2 &7 9ralT 8T 2l

Either 1 or 2 follows.
- Faor 1 &T UTelel &IaT &1

| Only 1 follows.
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Q.4

Ans

et 100 arc & =ed 1 AT 5 9¢ 3umeT R ST ¥l 3 et # aew gann feaet 3=
$r @ua grEir?

An electric lamp of 100 W is used for 5 hours per day. How much energy will be
consumed by the lamp in 3 days?

15 gfec

1.5 units
0.5 Ffee

0.5 units
5.0 gfde

5.0 units
1.0 gfee

1.0 units

X 4

Question ID : 9864494912
Status : Answered
Chosen Option : 1

Q.5

Ans

820 §&e Wgfe arer R eafer T @ qETEES FAv ghm Ay sEE At
forelr @ ATemE & 420 dex 9fy I &2

‘What is the wavelength of a sound wave whose frequency is 820 Hz and speed 1s 420 m/s
in a given medium?

x , 252 #rex
2.52m

x , 352 T
3.52m
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Question ID : 9864494934
Status : Not Answered
Chosen Option : --
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Sister-in-law

Question ID : 9864495108
Status : Answered
Chosen Option : 2

O gfe q+i=1¢%ar a3+ai,a:rm?ra::|ﬁﬂ?rr‘?

a
If a +mi = 1, find the value of a® + a—l,

Ans X 1.1.5
v2_2
K32
x40

Question ID : 9864492836
Status : Answered
Chosen Option :2

Q8 zfr tan 0 = M,—lg T, O cosec?d — sec?§ F AT 9T FII

Iftan 6 = % find the value of cosec?8 — sec?6

Ans x . 12

<2
K3

v

AR em A ol

Question ID : 9864494607
Status : Answered
Chosen Option : 3

Q.9 Ffy 19 7 2012 Hr ufeamw am, &1 1 e 2014 & Hi= @ & gem ?
If 19™"May 2012 was a Saturday, what day was 1°*April 2014?
Ans m‘
v
Tuesday

HHET

| Monday
AL

e

p

5 3
Thursday

x o, 152 #;eX
1.52m
. 052 HeT
0.52m
Q.6 A X Fr T T FXT gT A Y o e B, A X F 9=h, g Y F Raw
S @ L AP Y, N X& 7
If pointing to Mr. X, Ms. Y said that Mr. X’s wife is the only daughter of Ms. Y’s father,
then Ms. Y is Mr. X's .
Ans x 1 T arefy /aTel/ AT SERTAT

FB Group: SSC Railway GK Aptitude

Question ID : 9864494603
Status : Answered
Chosen Option : 3
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N ERRT AT HT T TFITTE D

A. HY THE & Tcal @ Hesholl UTgT el Sl g

Question ID : 9864494964
Status : Answered
Chosen Option : 1

B. 9 HHE & dedl Pl STIT OTqT el AT ¢l
C. 173 THE & dcal &I gelleie gl AT g |

Which of the given statements is/are true?
A. The 2™ group elements are called Alkali metals.
B. The 15" group element are called Alkaline metals.
C. The 17" group elements are called Halogens.

X1.a’_clﬂA
Only A
XZ_BaﬂTc
Band C
FaeA C
v Only C
x4.A3-ﬂTC
Aand C

Q.11 FREpET T B - 9N F TATAA FA-AGH T 1 T OF e w1uE-

Ans

Cro il iR el i e i
Kacheguda railway station — India’s first energy-efficient ‘Al Category’ railway station —

is situated in which of the following states?

Question ID : 9864494448
Status : Answered
Chosen Option : 3

Tamil Nadu

Q.12 FIfFT FH=a § gaioaT gl

is concerned with cell division.

Question ID : 9864494626
Status : Answered
Chosen Option : 4

1 HATolgsd FS=ES
Maleic hydrazide
AIEeleR A TaT

' Cytokinin

X3 Torsifera

Gibberellin

ES i pe

Auxins

2

< 4

FB Group:

SSC Railway GK Aptitude

)

Telegram Channel

: t.me/ssccglinfo\




www.superpathshala.com
Q13 o= fitesr 1 5@ L # ST S § A S 4 A ¥ e 1 aew R 87

A fraction when added to g gives 4. What is the fraction?
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Question ID : 9864494571
Status : Answered
Chosen Option : 4

Ans 13

Q.14 wF FX 45 fme & 39l Afde W TG & e 65 kmihr A1y & wwd
¥ 1 36 fAme & 3T Ao W g & v swdr afa e gt afie?

A car runs at a speed of 65 km/hr to reach its destination in 45 minutes. What should be its
speed for it to reach the destination in 36 minutes?

Question ID : 9864494819
Status : Answered
Chosen Option : 3

Ans x1_ 52
~ 265
< 374
v+ 8125

Q.15 forelt w1 & weft el &7 T Reeht o1 & SRmm A e B IR ww &
HTAA & A H AUS AT F FEA H A T & TG & WedS A &
R FY, A T H TF g H AW FAT g

The sum of the lengths of the edges of a cube is equal to twice the perimeter of a square. If

Question ID : 9864492774
Status : Not Answered
Chosen Option : --

a quarter of the numerical value of the volume of the cube is equal to the numerical value
of the area of the square, then the length of one side of the square is:

Ans
x 1 27 ECoEy

27 units

v 13.5 SF1E

13.5 units

x5 10.5 s&12

10.5 units

x . 9 T

0 units

Q.16 & Y Fr AR 39T FF T HAT X T FgT ‘5o [oar A Tl B gl
gl J ol Ay A Y | A AW Y F 9y AmE X F
g1
Pointing to Ms. Y, Mr. X said ‘Her father’s wife’s only sister is my only maternal aunt’.
Then Ms. Y’s husband is Mr. X’s

Question ID : 9864494787
Status : Answered
Chosen Option : 3

Ans X . a:né.
Brother
v &)
Y/ S S/ 9T ASS (Brother in law)

Brother in law
s == /ATAT /G AT /arF (Uncle)

Uncle

orar

Father

X 4

Q.17 [
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Ans

fafof@a e @ 9@ it ool = & wge el # ¥ #7 @ 5o
2 & e gaeg g8

T Tt & AeEe B & 9EeT 9fET & sEfEsae wr gefaa war
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Question ID : 9864495123
Status : Answered
Chosen Option : 3

CIESH

1. 58 I, et F et S T HfUw §
2. AAST BT ¥ IfeRe [T 309 2l 2 = TreeT & Bw
I g &
Read the following question and decide which of the given statements is/are sufficient.
Does mobile phone usage among students affect their performance in exams?

Statements:

1. This year, the number of failures in exams are more.
2. Mobile phone generates harmful radiations and has many health hazards.

Ko
995 T 3] & & (AT Haol fdhed 1 Wcd ¢ AaTh, had Qe 2
e R
1 alone is sufficient while 2 alone is not sufficient to answer the question.
X2
T F 3ol &7 F I Fae e 2 g § e, Sae [Feeq 19
e
2 alone is sufficient while 1 alone is not sufficient to answer the question.
5 3
g9 & 3ol & & fore 1 31t 2 &t Reew gaea g

Both 1 and 2 together are sufficient to answer the question.

W 4
T FT 3t & & AT 7 a BT 1 3t 7 & Reey 2 woiea &

Neither 1 nor 2 is sufficient to answer the question.

Q.18

Ans

Earnings per day

Sakes In 7

Question ID : 9864495119
Status : Answered
Chosen Option : 3

cEHEEREE

o - SR
& “{\*f@ & 4

Earnings per day- 9t f&a 3mT

Sales in I- f&hr (T #)

Sunday- I@@R  Monday- HiHaR Tuesday- HeTord Wednesday- @ar
Thursday- f[6aX  Friday- [shary

Saturday- =@

Earnings per day

Sakes in 7
EEEREE]

PPELSES
According to :he given graph, the highest earnings was on:
HHIR
. Monday
EAEIE

=

2,
Wednesday

v T
Thursday

K1
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QIR X FAYF AT FFa s sar Yy FmaRr X = el
If X’s mother is the only daughter of Y*s father, then Y’s husband is X’s

Ans x . *ﬂé'

Brother

rar

Father

| T A [ Htar /aF (Uncle)

2

x

Uncle
Cra)

Son

X4

Question ID : 9864495037
Status : Answered
Chosen Option : 1

VN P # O ST smeaedET J46 32

Which of the following is NOT malleable?

Ans
X2
Alumininm
<2 :
Copper
=
Silver

s

| Graphite

K 3.

4

Question ID : 9864494981
Status : Answered
Chosen Option : 4

Q.21wmﬁ&ﬂ¢@mﬁ@mﬁﬁ$mﬁﬁmﬁﬁma§mﬁwaﬂn

The ratio of the measures of an interior angle of a regular hexagon to that of a regular
dodecagon is:

Ans of1.4:5
X26:12
X31:3
X 43:4

Question ID : 9864492735
Status : Answered
Chosen Option : 2

Q.22 gt % T ova =1 T F AR wEgy F AE gawus s &
ATATT, e faemarwsmeh TRt o SARAGSU ZaW e, dfgTed &
fAeed & & e Fraw & & % e

India’s first touch-and-feel garden for visually impaired was inaugurated by the Kerala
Assembly Speaker P Sreeramakrishnan in which of the following campuses in
Thenhipalam, Kerala?

| SR Prefieare dw
Bharathiar University Campus
| FR Rreafdgame Sww
Kannur University Campus
. sforre Rreafaeme Fraw

Calicut University Campus

x

v
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Question ID : 9864494445
Status : Answered
Chosen Option : 2
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el Taeafaeae

University of Kerala

X 4
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Q.23 37 Tehe AAMF & ATH R ¢ o HafteT eI (Dos) &1 wRE ailw aafer
HTHRT Tl AN ANE FAJHUT e (S0 & 3T & & H e
Torar T 32

Name the rocket scientist who has been appointed as the Secretary of the Department of
Space (DoS) and the Chairman of Space Commission and Indian Space Research
Organisation (ISRO).

Ans x1m- ;ng;r

C.Mohan
CARE L)

X2
Dipan Ghosh

F. S
K.Sridhar
*. ==

K. Sivan

X 3.

v &

Question ID :
Status :
Chosen Option :

9864494434
Answered
3

Q.24 8% =0Tk 2T T 3 T HT TR A 9% T4 T & 2 I F WUROT A
# T 90 #E 1 Heruw (F90 H) Fhaer 87

The simple interest on a certain sum for 3 years at 8% p.a is T 90 more than simple
interest at 9% p.a for 2 years on the same sum. The sum is (in rupees):

Ans (1. 1900
v 2T 1500
~ 3% 1850
# 4. T 2250

Question ID
Status

Chosen Option :

19864494857
:Not Answered

Q.25 uw sfoErE & aF THEATT Tgui Fi &, g A g & 9 -t
AN Togufy & w9 F USHE HTeT 27

‘Who is the only president in US history till date to have served two non-consecutive terms
as US President?

Ans X, s FE
Gerald Ford
| SHer arfarTes
George Washington
Vs T Felraols
Grover Cleveland
x . T T

Herbert Hoover

x

Question ID
Status

Chosen Option :

19864494493
: Answered

2

Q2 eafer Fr = sEhr g 99 W T8 =

The pitch of a sound depends on its:
Ans i
x 1 o (timbre)

timbre

| frequency
HTITH

3.
amplitude

2
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Question ID : 9864493603
Status : Answered

Chosen Option

12
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X 4

intensity

Q.27 By=7 g - :
e # ¥ frwer S v HURAT wEAr g Question ID : 9864493024

Which of the following numbers will have an irrational square root? Status : Answered

Ans « 11825 Chosen Option : 1
X 2625
x 33025
X 41225

Q.28 —=¥=g Hr e & FelraTeT
oI L % W TG R Question ID : 9864493469
In Newlands’ table, the elements were placed with the halogens. Status : Answered

Ans 1 Fe 3T Se Chosen Option : 2
Fe and Se
X, Ce AR La
CeandLa
x5 Mn R As
Mn and As
. o 3R Ni

' Co and Ni

Q29 Tt 7 & W ATTeis & o e & foaw Rare

‘Who among the following scientists postulated the Law of Constant Proportions?

Question ID : 9864494997
Status : Not Answered

Ans x ﬁw ﬂ'lﬂﬁ' Chosen Option : --
1.
Jacques Charles

X2 TSI AdEaaT
Antoine Lavoisier

3:1%%3]"&3{

<
Robert Boyle
v AHE WEE
Joseph Proust

Question ID : 9864495035
Status : Answered
Chosen Option : 3
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Ans

Earnings per day

/\/ =

R e Y
& RN
& Ji“’é} &

Sales In ¥
o§§§§§§§

Earnings per day- 9o faa amr

Sales in - fadfr @ &)

Sunday- If&@R Monday- H#HaR Tuesday- FFe@R Wednesday- Fe@R
Thursday- F¥a1T Friday- &<t Saturday- aif=ar

T g€ o6 F FHUR W, FFEGA # FW FEH 3fow & &= am

Earnings per day

2N

;ﬁ/\/ —

A R
"f\i"&«f ¢p",b ®$§

Based on the given graph, the difference in the earnings was the highest between:

X IR 3R FAeerE
Monday and Tuesday

Al AT afEr
| Friday and Saturday
FoaR 3T gUar
Tuesday and Wednesday

v e Ak d@FEr
Sunday and Monday

X2

K 3.

www.facebook.com/superpathshalaﬂ

Q.31 v sfemR 1 1@ 3 & 39 # fnfom G o &) =2 e & ™ g

Ans

H e AT SR FEE, 3Ee AU T e o ey g S9t o
ey =t ve Theisy & e =ar § S FaE, 3ues 3 @ e &
T B 1 o % AR B o & wry e @ S & e aar
grem?

A sphere is split in the ratio 1 : 3. The larger part is molded into a cone having a height

equal to the radius of its base, while the smaller part is molded into a cylinder having a
height equal to the radius of its base. What would be the ratio of the radius of the base of

the cone to the height of the cylinder?
K1§3:1
v2i9:1
K33:1
PR V3

Question ID : 9864492914
Status : Not Answered
Chosen Option : --

Q3223 Peafef@e # & B9 B & Sis 1 9reF gem?

Ans

Which of the fractions given below, when added to g, gives 17

X1.E
3

6
K2
14

FB Group:
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Question ID : 9864492661
Status : Answered
Chosen Option : 3
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.. 6
i3
21

4
p
2

Q.33 1568 & WY TN U HiT W #Ew ¥ faenfag fhar e f& gfone g )
Question ID : 9864494873
T qOT 9 &7

. o . Status : Answered
By which least number should 1568 be divided so that the resultant number is a perfect

square? Chosen Option : 4

Ans x13
X25
X386
V2

Q.34 9800 =TT F=1T 80 T F AN F 3B F e T H 7 o gewE
#T FEE % IS AT oT:

Question ID : 9864494672
Status : Answered

9800 joule of energy was spent to raise a mass of 80 kg. The mass was raised to a height
of:

Ans v 123 Hrex
12.5m
15.0 #ET
15.0m
10.5 #AET
10.5m
22.5 WeT

225 m

Chosen Option : 1

X2

X 3.

X4

Q.35 AAfEa 7 & FF RIRESET I FRFH H 9ET HFEr Hgr Aar g7 )
. . ) ) Question ID : 9864494705
‘Which of the following organelles are called the Protein Factories of the cell?
Status : Answered

Al
ns m Chosen Option : 4

K1

| Chloroplasts
v &) T3eIY
Ribosomes
X3 : 2
Mitochondria

CIEIRaIE]

Lysosomes

X 4

Q.36 o wfie AT / 33, oae Rfees 3Eeh et & A< sm=alr
Higig & G wH Fhar §, faaer fager 2017 & s @ e

Which famous actor/actress who has worked with Merchant Ivory Productions in various
English movies died in December 20172 Chosen Option : 2

Ans
X1.m3ﬂ
Om Puri

AR FR
Shashi Kapoor

Question ID : 9864492173
Status : Answered

v
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Q.37 T=fefaa aer @ e & g favkr &.fF o F R aw sl @ A
fAfed /8]

a4
Ueh oIfdd = Fel, “3EAE, Taa & HROT 6IaT &1

ST
1. 5 e €, 399 atfes= g &
2. AT, Gideer &1 Wehdl Bl

Consider the given statement and decide which of the given assumptions 1s (are) implicit 1n
the statement.

Statement:
A person quoted, “Pride hath a fall”.

Assumptions:

1. Those who fall have pride.
2. Having pride can be counter-productive.

Ans x HeTAE 1 3ar 2 fAfga &

' Either assumption 1 or 2 1s implicit.
thae 3= 2 fafea &

Only assumption 2 1s implicit.
FAR 1 T 2 g, @fEd &
Both assumptions 1 and 2 are implicit.
thae A 1 AT &

Only assumption 1 1s implicit.

W2

< 3.

< 4

Question ID : 9864495104
Status : Answered
Chosen Option : 2

Q.38

few 1w s A, P 3 e F T Fogeer § e aw R g e
34 Al & TEg w1 AaEites w=ar § ek @ W g 5T et
THE & WiaATed I g, fows o gier g

o it Fr dE fhoe § e T w AR @ § g WAl E

In the given diagram, triangle represents the set of people who possess a car; square
represents the set of people who possess a house; and circle represents the set of people
who possess gold.

‘What is the total number of people who possess a car and gold but do not have a house?

Ans 2LV + IV
K2V + 1l

FB Group: SSC Railway GK Aptitude

Question ID : 9864494764
Status : Answered
Chosen Option : 3

Telegram Channel

: t.me/ssccglinfo\




www.superpathshala.com www.facebook.com/superpathshala/
vV
Kal+ |V + VI

Q.39 god 9T UIT A Aol HiFHT B3 el T Vel Heave S1d i F 2

The first photosynthetic oxygen liberating organisms to appear on earth were:

Question ID : 9864493177

Status : Answered

Ans Chosen Option : 1

F ! G-'I’HTU_;I'
Bacteria
X2 e
Green algae

AT e Em

| Cyanobacteria
| Bryophytes

Q.40 T =17 g% W F=w #{ 3T 97 = & & 2 AvmasHt § @ Ha & @
T@

W3

K4

Question ID : 9864493973
Status : Answered

T Chosen Option : 4

oET X A, W a= & ST giE Aee-asiier Gliear 9we g &, it
gler Foeir ST T FT 3TEET ST B

o

HGT:

1. afe ST ST Ferelier 1 SEQATT &, af SHEAT fashr &7 gisr o=
& TE gy

2. 9T X # g AeT-uishEe # goar § A ddaie are At
e THe e o #

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

In City X. people prefer to buy Honda bike instead of Bajaj, as Honda company brings in
Japanese technology.

Assumptions:

1. If Bajaj used Japanese technology, then its sales also would be at par with Honda
company.
2. Bikes with Japanese technology are preferred than other bikes in City X.

Ans x1_13ﬂ¢2aﬁﬁr‘%r-ra'€ré‘|

Neither 1 nor 2 is implicit.
1 3ht 2 2 B
Both 1 and 2 are implicit.
| e A=t 1 AR 7

Only assumption lis implicit.

4.aa_cl?~|'3=|1u_-€lT-lT2ﬁlﬁFr%I

x

x

v
Only assumption 2 is implicit.
Q4 g0 T 18% FT 54% B7? Question ID : 9864494516
18% Df 60 iS 5404 Of Sta.tus :Not Answered
Chosen Option : --
Ans ( 1. 20
X 2 40
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< 4.180
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Q.42 §'§

T 58 TRel ohe @ RdE Yar ov A s ¥ a e e @ s R

If the transparent sheet is folded at the dotted line, then the resulting figure is.

SBE b

Ans x1_A
X 2D
V3B
X4C

Question ID : 9864494807
Status : Answered
Chosen Option : 4

Q.43 v =r geaedlt S B A # T AT OF 99 F1 B sl T (@) ey
Fadedt H ¥ TS 9 W IEEOT (FAT §) F &

qeFccd:

1. Tafr wirer drer F
2. %o 9 gt AR g

o=

1. 3 drer e §)
2. wafr drer g

Consider the given statements true and decide which of the given conclusion(s) logically
follow(s) from the statements.

Statements:

1. All reds are yellows.
2. Some yellows are not greens.

Conclusions:

1. Some yellows are reds
2. All yellows are greens

Ans v Faer frshy 1 3TETOT FHAT g
1.

Only conclusion 1 follows.
, 1 3R 2 2t sregeor F=a E
Both conclusions 1 and 2 follow.

i Fael frshy 2 FFHIT HLT g
Only conclusion 2 follows.
1 3R 2 2t e @ F E

Neither conclusion 1 nor 2 follows.

x

x

x

Question ID : 9864494242
Status : Answered
Chosen Option : 1

Q.44 smyfers e el & e gt § @ Fw & e A6 @ @
g

In which of the following groups of the modern periodic table are the noble gases placed?

Ans x 1.16

FB Group: SSC Railway GK Aptitude

Question ID : 9864493313
Status : Answered
Chosen Option :2
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v 218
X317
K415

Q.45 arfy aiy fEEr 7 80 # ¥ 68, 7O # 60 F ¥ 46, AT F 90 F ¥ 74, AR

SO & 45 F W 34 3 aroH AN L, A 3 A G 3 W R Question ID : 9864494817
e 7 Status : Answered

Chosen Option : 4

If Anju scored 68 out of 80 in Hindi, 46 out of 60 in Mathematics, 74 out of 90 in Science,
and 34 out of 45 in English, in which subject did Anju score the maximum percentage
marks?

Ans Tlﬁ:k__r
F !
Mathematics

Science
3T

X 4
English

Q.46 v weaT o mar & 3R S a1 & I9aey fjr v §) 1@ oy o & R

T 9 =T ST A & e Rv e s @ o ¥) Question ID : 9864495054

Status : Not Answered
2016 ¥ H9= X F 2014 & FeFraer weT & e gy fha §2 Chosen Option : --

CEGEUH
1. 2014 F FU T T T1 A oW, F7 2015 T 10% 3178k am|
2. 2016 F FIA FT W T 2 NG o, A 2014 ¥ T AW HU om

A question is given followed by two statements. Decide which of the given statements is
sufficient to answer the question.

‘What is the percentage increase in profit of Company X in 2016 with respect to that in
2014?

Statements:

1. Company profit in 2014 was ¥ 1 lakh, which is 10% more than that in 2015.
2. Company profit in 2016 was ¥ 2 lakh, which was ¥ 1 lakh more than that in 2014.

Ans x1_
1 373hel 9ATcT &, Fafé 2 3dher garcg =gr gl

1 alone is sufficient while 2 alone is not sufficient.
X, T ar 1 ar 2 goeT B
Either 1 or 2 is sufficient.
o 1 3R 2 2t v e o
Both 1 and 2 are sufficient.

v 2
2 e TATeT B, Fafa 1 e qacT Far 2l

2 alone is sufficient while 1 alone is not sufficient.

Q.47
Question ID : 9864494709

Status : Answered
Chosen Option : 3
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e a1ar AT =T (Problem Figure), &7 7T 3cat i (Answer Figures) & &

T H wiedled & 98 S & sl 27

Problem Figure
Answer Figures
A B C D

The given Problem Figure is embedded in one of the given Answer Figures. Which is that

Answer Figure?

Problem Figure
AnswerFigures
)OO [ S I V|
A B C D
Ans x 1.C
<2 A
V3B
X4D
Q.48 ﬁﬁ- m BFeT ¥
T # 9 s | Question ID : 9864493472
el T F T Ol F | wiafEar #ar ¥ Status : Answered
" Chosen Option : 1
Fill in the blank with the most appropriate option.

Quicklime reacts with water to form

v Foleh LT (slaked lime)

Ans

slaked lime
Al YT
K2 o ®
limestone
=Heh 91357
< 3.

chalk powder
x4 T FT FANSS

chloride of lime

M F Y P T Her 22 Question ID : 9864494648

. . . Status : Answered
Which of the following statements is true? _
Chosen Option : 4
Ans x 1.

Heol Igel Soifas o former 1886 & U 9 = R & &9 & Z@r

Mendel was the first scientist to visualise a gene as an inheritance in 1886.

W2
Feaw. 7 & @ie HifgE F avE v Gl S9eR T (double helix)
A AT & o Sielegfreress s & &=

A DNA molecule is made up of two long polynucleotide strands forming a double helical

structure (double helix) just like a spiral staircase.

K 3.
‘SRfeFd # FE&aEET 7 1906 FH afnRe Far

The term ‘Genetics’ was coined by J. D. Watson in 1906.
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9§ YXEN60OLBUIZT(@1QFD%
If the second half of the given series is reversed, then how many letters, from left to right,

is preceded by a letter and succeeded by a number?

98 YXEN6OLBUIZT([@1QFD%

Ans x1_n
K23
X 31
a2

Question ID : 9864495134
Status : Answered
Chosen Option : 3

Q.51 A ABC #, AB = 12 F&IcT & | <A Al &7 & BC & D W Fead F
fow gfafaenfara famar 7=1 & | BD = 7 $&#Rx 3w DC = 8.75 HEHART ¥ |
CA & g Rt & 2
In A ABC, AB = 12 cm. £A is bisected internally to intersect BC at D. BD = 7 cm and DC
=8.75 cm. What is the length of CA?

Ans o
x , 13.5 ¥enlex

13.5 cm

v 15 FEHT
15 cm

x , 14.5 Wnlex
14.5 cm

x . 12.5 ¥élex

12.5 cm

Question ID : 9864494545
Status : Answered
Chosen Option : 1

Q.52 zoiﬁﬂrwﬂ#wwﬁw%;dﬁwmaﬁ | 9% T o &
#eTs fraer & 7
Asteelrodof]engchO% is cut out from a rod of length 56%.Whatthenisthe
remaining length of the rod?

Ans 1

11
W2 365

7

3
?(4. 365

Question ID : 9864493784
Status : Not Answered
Chosen Option : --

O o # ¥ FiF O v quafas #f@ter 3
Which of the following is a chemical reaction?

Ans x 1 g% T T
.Meltjngofice
, HAE freeel &1 Feaaaa

Sublimation of Iodine crystals

X 4

AT & 46 o @, o & 42 (21 i) e fe § e

4 (2 shfean S (sex) TomE B &1

In human beings, there are 46 chromosomes. Of these, 42 (21 pairs) are autosomes and 4
(2 pairs) are sex chromosomes.

Q.50 Ifg & 15 4G FT G T Jeie A onar &, v At & gt fRaer 3w R aew F
a5 AR frelr der @ 39 99 S §

FB Group: SSC Railway GK Aptitude

Question ID : 9864494980
Status : Answered
Chosen Option : 4
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ofrer w9t & Fg@eTr
Drying of wet clothes

| ARG Tl gar
Butter turning rancid

K 3.

v
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Q.54 =gt wrga AFFET W AR F A 5§ 3w o amw 5 A R e
TEuReTs # & Ha sE e 2
GLoLa TR
qorer i T gEE F A g weh Affw W 3w o
TN

1. g O o
2. giffew wér aliF ¥ FEr oEne v

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
During the depression in the Bay of Bengal, the wind blew away all the hoardings.

Assumptions:

1. The wind was fast.
2. The hoardings were not fixed properly.

Ane x1ﬁ¢q§mzmr—c|ﬁ1%ﬂ%l

Only assumption 2 is implicit.
| el e eatates
Both 1 and 2 are implicit.

faF EemoT 1 swafafea &

Only assumption 1 is implicit.

x

X 3.

v
A A EUROT 1 T JHUROT 2 Hedteied 8l

Either 1 or 2 is implicit.

Question ID : 9864494094
Status : Answered
Chosen Option : 3

Q.55 5JABKBG40C1659NLEPUF, & A H JEET A g9, 39 9e @ s
FT = PrAfaRRa gmer # afee @ ¥

AG, 1N, 48, NF
Using the sequence 5JASK6G40C1659NLEPUF, select the term that does NOT belong to

the following series.
AG. IN, 46, NF
A of 1 NF
#< 21N
X3 46
<4 AG

Question ID : 9864495098
Status : Not Answered
Chosen Option : --

Q.56 Rrifa@e FEasi # & R Gear @1 @ A FARET ¥ 2
The square root of which of the following numbers is irrational?
Ans o 1.7840
< 22916
X 5 4489
X 41024

Question ID : 9864494533
Status : Answered
Chosen Option : 4
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Q5 Srrfarf@T acar ¥ @ HleT o1 ag-mﬁaa? g? Question ID : 9864493227

Status : Answered
Chosen Option : 3

Which one of the following elements is polyatomic?
Ans Ho b

1,
Sulphur

xg;ﬂhﬁzm

Sodium
5 3
Argon
X4 ;
Oxygen
Q.58 foeet & W HieT & FUT T A TeT & 2 )
- Question ID : 9864494676
A)TAT F TE & BT e 7 T RoEr ¥ SIS AT
B) & U H THEOT F el Al AT Ay 56 qE F e I Al Chosen Option : 4
g g

C) FAST 0,H? 3T AN HaFd waeT & M F1 To Ale THH0T §| Sraer
TH B AT F Angew 3 e it dieg §

‘Which of the following statements is/are correct or incorrect?

Statements:

A) The rotation of Earth is responsible for wind blowing.

B) A fuel would be regarded as environment friendly if its combustion products were non-
poisonous.

C) Coal is a complex mixture of compounds of 0,H? and half fiee carbon. A small
amount of Nitrogen and Sulphur compounds are also present in coal.

Ans x1_
el FUT A T &, FUT B 3 ¢ 79T T

Only statement A is correct, statement B and C are incorrect

X 2 T FHUA T B
All the statements are incorrect

W 3

F9eT FATB TET ¢, FIT A I C 79T 2

Only statement B is correct, statement A and C are incorrect
< 4

FUT AR B TS & =TI C AT

Statement A and B are correct, statement C is incorrect

Q.59 Trrfafag & & ®id @ § FueT wwe §7

A et AR T ot Fd e e m AR me, A S g ARG RE, &
FA TocalHdoT Gl B ST 101 g gl

B. =g gauiie ufd @ fanellama, G (el aecarador Reais) & s, ss Chosen Option : --
3l

C. G (At Jecarior frrs) &1 AW aegel & 4 & gl | PR aear

D. G (adsifE® JEarRtor forrdie) & Al aEga & geaAe W T e gl

‘Which of the following statements is/are INCORRECT?

Question ID : 9864494910
Status : Not Answered

A, The ratio of the force of gravitation between two masses, m* and m?, kept at a
distance R on the earth and on the moon is 1:1.

B. Nm?/kg? is the SI unit of G.

C. The value of G depends on the distance between the bodies.

D. The value of G depends on the masses of the bodies.

Ans
KrﬁﬁiB
Only B
, D.B3lR C
'D,Band C
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Q80 o 77T FHEROT & AT FT 94T FC

6-36x3+6+5="

Find the value of the given expression.

6-36x3+-6+5=7
Ans x1_ 7

X2;42

11

X2

11

v 7

Question ID : 9864493674
Status : Answered
Chosen Option :1

Q.61 a1 & FEue g AT awT # g
2
In which Indian city is the headquarters of the Coir Board located?

Ans
F ! ;l?!'&

Madurai

Question ID : 9864494492
Status : Answered
Chosen Option : 3

Q.62 | &,
Sub

55 | 80 | 95 | 60
60 | 20 | 90 | 40
90 | 80 | 40 | 65

N=<|x

&1 % arfersr I fawat P, €, B dit M & ax ot W, X, Y 3R Z g@rr
e 3 F ulafAfeg Hear &1 Tede fawg 7 srfEeaa 3iE 100

IR o & ftEman AR =Eas ufawd (P, ¢, M 3R B # ) #
Rrdgar afax &

Stu/
Sub
w 70 | 80 | 50
55 80 95 60

X
Y 60 | 20 | 90 | 40
z 90 | 80 | 40 | 65

4 C B M

The given table represents the marks obtained by four students W, X, Y and Z in four
subjects P, C. B and M, with the maximum marks in each subject being 100.

The difference between the highest and the lowest percentage (P, C, M and B together)
among the four students is:

ans X 1.21.75
V22125
X 221.20

FB Group: SSC Railway GK Aptitude

Question ID : 9864494714
Status : Answered
Chosen Option : 2
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X 42152
Q.63 37 faweT & T F{ A T 9 T & 3 THR T TefT &, A gmw Question ID : 9864494776
P uestion ID :
g Ugd UE ¥ TaRA g
Status : Answered
L g o e Chosen Option : 1

Select the option that is related to the third term in the same way as the second term is
related to the first term.

Butter : Milk :: Oil :
Ans x 1 3TE & TR
Flourmill
IS

- Seeds

HIeeT
X 7

Soap
X 4 el

Grains

W2

Q.64 Toreft 4 FErfex #1 o= A T & TAF B F 1 HEHEL F T FE

%ﬂTW,ET'@‘gH—?ﬁWW%I%‘H@r Afey et ¥ 3 5@ TR @ T Question ID : 9864493035

HEHT T AT Fhee 22 Status : Not Answered
From each corner of a square with an edge of 4 cm, a 1 cm segment was chopped off Chosen Option : -

from each side containing a vertex. What is the perimeter and the area of the octagon thus

created?

Ans s B 4\2) TEHAET 14 T TEART
(8 + 4/2) cm: 14 cm?
, 42 HEHRET; 14 T T
42 em: 14 cm?
R HodeT, 14 T e
4 + 442 cm; 14 cm?
, 16 T, 12 77 FER

16 cm, 12 cm?

x

x

Question ID : 9864494805
Status : Answered
Chosen Option : 4

A B C D

A B C D
Select the picture that does not belong to the group
Ans x 1.C
< 2D
X< 3B
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viA
Q.66 nfy 24.2 el o & Hewr T 12525.92 §, o &AL 0TSl % 8.5 . )
. & o mew R - Question ID : 9864494869
~ Status : Not Answered
If 24.2kg of ghee costs T 12525.92, how much would 8.5kg of the same ghee cost? Chosen Option : -
Ans X' 1.F 4980.30
X 27 4675.20
V'3 T4399.60
< 4 ¥5239.50
Q.67 5 FE f2r a7 sro=s aifoelier g oot & & 59 F @2 an Oy & R T
ey ot &1 B & @ e o v 3w Ry & sure e 7 peston =
The passengers standing in a bus fall in the backward direction when the stationary bus S St e
begins to move. Which of the following laws explains this situation? Chosen Option : 3
Ans
=g & A FT g@r FIA
XA
Newton’s Second Law of Motion
o, I F i 1 AT A
2.
Newton’s Third Law of Motion
X 3 AT & TIETOT T Had
The Law of Conservation of Momentum
v TR I 1 9o =T
4,
Newton’s First Law of Motion
Q.68 IEETd T 2592 8% FHh el
;E; TR I 3 g S Question ID : 9864494878
What is the cost price of an article when selling price is T 2592 and the gain is 8%? U BT
Chosen Option : 3
Ans 1. ¥ 2,264
~< 232,200
~< 332,385
o 232,400
Q.69 37 QU
HALIT AT & HIER faege umr &1 gohs 7 72 Question D : 9864494995
What is the SI unit of electric current? Status : Answered
Ans x EL?.[ Chosen Option : 3
1.
Joules
v ) [
Amperes
< 3. q1e
Watts
Tholdd
(29
X4
Coulombs
Q.70 ‘ofyfErET TTA TEeT fieer srEEmdr 9ftaer F dus 3
b r e 2 2 ® & Question ID : 9864494443
The book * Anything but Khamosh: The Shatrughan Sinha Biography” is authored by: Snancwercd

Ans
oTET T&=aT
X1 o2
Shatrughan Sinha

FB Group: SSC Railway GK Aptitude

Chosen Option

1
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Khaled Ahmed
vs HAT TH T
Bharathi S Pradhan
, Gl e

Ka
Deepti Naval
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Q.71 fer =7 wom & 9g 3ity fovTw &1 & fow 7w =gt # @ Fi9 avE soea=
o B 1

TR -
X, Y, Z % Atma 3% 180 § | X & 3% fhaw §2
LG
1. Y 3T Z v @y 50 37 9T = &
2. X 3T Z T @Y 60 3F UeT = E
Read the following question and decide which of the given statements is/are sufficient.
Question:
The average marks of X, Y, Z is 180. What is X’s mark?
Statements:

1. Y and Z together score 50 marks
2. X and Z together score 60 marks

Ans X 1.
T =TT w9t F1 3o’ & F forw 1 3mpen waeT &, SEfe 2 mker wwica
Zl%allone is sufficient while 2 alone is not sufficient

x o, T 1A 29aT ¥ |
Either 1 or 2 is sufficient
1 3R 2 2 v wry T §
Both 1 and 2 together are sufficient
< 4

foT T WaT T I 3 F AT 2 e gHeT §, FEiF 1 e 9AT Har
g

2 alone is sufficient while 1 alone is not sufficient

v

Question ID : 9864494797
Status : Answered

Chosen Option :2

Q.72

FB Group: SSC Railway GK Aptitude

Question ID : 9864495010
Status : Answered
Chosen Option :1
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P
ANENINE

A B C D
Select the option that will come next in the following figure series.

Pl

Hbet

A
Ans X1B
v2C
X 3D
XA

www.facebook.com/superpathshalaﬂ

Q73 9Rd & 68F AR feaw §ARE & AT Al @l a7
Who was the chief guest at India’s 68% Republic Day celebrations?
Ans v 9@ AlgFAe TdeT AdE 3Tl AEdreT
Sheikh Mohammed Bin Zayed Al Nahvan
Uaiell #Hehol
< 2

Angela Merkel

qoila Hegel Toidh
Najib Abdul Razak
Hfar =T A

< 3.

< 4

Aung San Suu Kyi1

Question ID : 9864494477
Status : Not Answered
Chosen Option : --

Q74 w av &H #, UUH 16 T &1 T 47 &

13 15
?, ?, ?.-

What is the sum of the first 16 terms of the given series:

6,

FB Group: SSC Railway GK Aptitude

Question ID : 9864495106
Status : Not Answered

Chosen Option : --
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X 2.157
v 3. 156

311
X 4 ry
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Q.75 form &ar =1 9 2017 AT Afger free g &9 & e #§ A &
T, ST g i &7

‘Which country won the 2017 ICC Women'’s Cricket World Cup defeating India in the
final?

Ans amu
.0
Australia
= el
2. LAY
New Zealand

$7els

| England

x s Jc 331
West Indies

x

W3

Question ID : 9864494479
Status : Not Answered
Chosen Option : --
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